Name: Date:
Teacher: Class:
Division 505

How do you catch an elephant? Hide in the grass and
make a noise like a peanut.

Divide these numbers.

L 60+12= 26120+ 12 = °L. 110+11= % 84=+12=
2. 24 +12 = 2. 11 +11= 2. 96+ 12 = mo132+12 =
s 121 +11= 8. 77 +11= 53. 48+12:_78-99+11:
4. 44 + 11 = 2. 33+11= . 132 +11= 9 55 +11=
5> 36+12= 0. 108 ~ 12 = 5. 22 +11= 80. 66 + 11 =
6. 88+ 11= 8l 144 + 12 = 6. 72 +12= 8l. 60 + 12 =
120+ 12 = 32. 12 +12= 5. 84 +12 = 82. 66 + 11 =
8 132+ 11= 33. 48 + 12 = 58. 121 +11 = 83. 55+ 11 =
% 22+11= 3. 110+ 11 = 89. 06 + 12 = 84 36 +12=
1024 +12 = 35. 48 + 12 = 60. 33+ 11-= 85. 132 +12=
. 11+11= 36. 36+ 12 = 6l. 22 +11 = 86. 66 + 11 =
1244 + 11 = 37. 110 = 11 = 62. 72+ 12 = 87. 88+ 11 =
13121+ 11 = 3. 48+ 12 = 63. 36+ 12 = 8. 66+ 11 =
4. 12 +12 = 39. 88 +11= 64 99 + 11 = 89. 132+ 12 =
15. 144 + 12 = 4. 06 + 12 = 65. 120 + 12 = 90 11+11=
. 77+11= A 60+ 12 = 66. 88 + 11 = TSS +11 =
17.48 + 12 = 2. A4 + 1] = 67. 96+12:—92-55+11:
1824 +12= 43121 +11= 8. 22 +11= B 144 +12 =
19 33+11= 4. 132+ 12 = 69. 132 + 11 = %. 84 +12=
0108 + 12 = 45. 48 + 12 = 0. 11 +11= %. 66+ 11 =
2l 12+12 = 46. 99 + 11 = 172 +12 = %. 108 +12 =
2120+ 12 = 4. 44 +11= 2. 36+ 12 = 7. 60+ 12 =
23. 88+ 11= 48. 77 + 11 = 73110+ 11 = %. 110+ 11 =
24. 88+ 11= 4. 22 +11= 74 33+11= 9. 44 +11=
%108 + 12 = 50. 66 + 11 = 5121+ 11 = 100. 77 + 1] =
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Answer Key Date:

Teacher: Class:

Division 505

How do you catch an elephant? Hide in the grass and
make a noise like a peanut.

Divide these numbers.

L e0+12=5 6. 120+12=10 5 110+11=10 7% 84 +12=7

2. 24+12=2 2. 11+11=1 52 96+ 12= 8 7132 +12=11

3. 121+11=11 28 77+11=7 5 48+12=4 7 99+11= 0
4 44+11=4 2 33+11=3 54 132+11=12 7 55+11=5
5 36+12=3 3. 108+12=9 55 22+11=2 8 66+11=6
6. 88+11=8 3. 144+12=12 5 72+12=6 8. 60+12=5
7 120+12=10 32 12+12=1 5 84+12=7 8 66+11=6
8 132+11=12 33 48+12=4 %8 121+11=11 8 55+11=5
% 22+11=2 34 110+11=10 5 96+12=8 8 36+12= 3
10024+12=2 35 48+12=4 60 33+11=3 8 132+12= 11
Ho11+11=1 3 36+12=3 6. 22:11=2 8 pe=1l=6
12044+11=4 37 110+11=10 62 72+12=6 8. 88+11=8
13121 +11=11 38 48+12= 4 63. 36+12= 3 8. 66+11=6

4 12+12=1 3. 88+11= 8 6. 99 +11=09 89. 132+12= 11

15 144+12=12 4. _9+12=8 6 120+-12=10 9 11+11=1
1 77+11=7 4 60+12=5 6 88+11=8 O 33+11=3
17. 48 +12 = 4 2. 44 +11= 4 67. 06+ 12 = 8 92. 55 +11=5

24+12=2 4 121+11=11 6 22+11=2 % 144+12= 12

19033+11=3 44 132:12=11 6 132+11=12 % 84+12=7
200108+ 12=9 45 4812 = 4 0o11+11=1 % 66+11=6
2t 12+12=1 4 99+11=9 . 72+12=6 9% 108+12=9
22 120+12=10 47 g44-+11=4 72 36+12=3 9 60+12=5

23 88+11=8 8. 77+11=7 3110+ 11 =10 % 110+11= 10

2.88+11=8 4 22+11=2 7™ 33:11=3 % 44:11=4
# 108+12=9 s gp+11=6 5 121+11= 11 100 77+11=7
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